Word Problems

Subtraction

1.

Drew has 1500 balloons. So far, he has inflated 778 of them. How many more balloons are left to

inflate?

2. The cross—country race was 1 600 metres long. Toby stopped for a rest with 1800 metres still to
run. How far has Toby gone so far?

3. The first album by the rock band, The Bingo Boys, sold 8,475 copies. Their second album has so
far sold 7,56%7. How many more copies of their second album do The Bingo Boys need to sell to
equal their first aloum?

4. The first day the tickets to the football match went on sale, 3,462 tickets were sold. By the end of
the second day, 8,436 tickets had been sold altogether. How many tickets were sold on the second
day?

5. The new TV Kate wants to buy costs $3,679. She has so far saved $2,053. How much more does

she need 1o save to be able to offord the TV?
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Word Problems Answers
Subtraction

1

Drew has 1500 balloons. So far, he has inflated 778 of them. How many more balloons are left to

inflate?

722 balloons

2. The cross—country race was 1 600 metres long. Toby stopped for a rest with 1800 metres still to
run. How far has Toby gone so far?
2,800 metres
3. The first album by the rock bond, The Bingo Boys, sold 8,475 copies. Their second album has so
far sold 7,56%7. How many more copies of their second album do The Bingo Boys need to sell to
equal their first aloum?
928 copies
4. The first day the tickets to the football match went on sale, 3,462 tickets were sold. By the end of
the second day, 8,436 tickets had been sold altogether. How many tickets were sold on the second
day?
4,974 tickets
5 The new TV Kate wants to buy costs $3,679. She has so far saved $2,053. How much more does

she need 1o save to be able to offord the TV?

$1,626
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